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PREFACE.

A Kzv, to 2 mathematical work, is very proper in
its place ; but to he constantly at hand, and consulted
too often, might prove injurious: we must not, how-
ever, confound the improper use of a . thing with the
thing itself. Those who condemn keys, in general
terms, should condemn teschers also; for a key is
neither more nor less than & tencher, in another shape.

The self-taught are generally sound and vigorous;
but if they disregard the works and teachings of others,
they will be found to be wanting in that certain sym-
metry and polish of mind, so characteristic of educated
mhen.

So it is with an sigebraist ; he may go through his
text-books, solve every problem, independent of ll
external aid, snd if he does not compare his work
with the works of othefs, he cannot know whether he
is skilifal or otherwise ; for it is only by comparison
that we measure excelleaee, No solution of a prob-
lem, or of an equation, should be called good, if better
can be found; hence it is important that more than
one standard of attainment should be before the pupil ;
and those who really become eminent, in any science,
are those whose talents and dispositions enable them
to gather knowledge from every possible source.
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SECTION I[I.
CHAFTER I

EQUATIONKS.

MNowm of the guestione in this chapter require the aid of
a key, until we come to the 15th, page 65.

(15.) (M N 1er—lts 4a
“13 o g
stock at the commencement of Whie third year, before his ex-
ponses ate twken out.

(lfm—iﬁu da 4

Hence, =2y
3

Reduced gives p==1t4800, .'?m.
(18) Put 5=108, z=—time past. Then g—zr= time o
come, and per question,
Ir do—ix
3 5
{17.) Let &= the whole composition.
Then per question,

--i-l¢|m=5-‘-,



L. KEY TD ALGEBRA.
4 "
=2 +10=nitze.
a3
x
}]—-—-4;=sulphur.

10
2j+——2=ohatmd.

21
! P x 2
By addition, -]-' E-l-il-—l-ﬂii-i-—-m.::
Moultiply by ﬁ,:m:l drop Bie from both sides, and we have

i a0

TS T A DR

7 et 7 ¥

BT, 4#+21?+m=7m A

(18.) Puta=183; w=what the Ist received ; thex
a—a&=21 received.

P ] oo o =83
er quesation, ?_ 0 N
{19.) Pot a=88, x= the grealer part, and g—r= the
lass. Bd—r=3{40—a{-)s + s » - - z=4R.
{20.) The distance from & to B put =2z.
The distance from C ta 1) Wo=gx,

Then, 3 times the distapce fromm B to € muost be

F . z T
—+4— or the distanee is, —--—
2+ﬂ or the distanee is, Iﬂ+2

a
Henee the whole distance ia, 5:c+§+—§=34.
(21.) Let z=the flock.

-l
The first party left him uﬁ-—&

The second leit ';'—3—1@.




EQUATIONS, T

(23.) Obeerve that for every vessel he broke he lost 12
cents : 3 cents fee and § cents forfeiture.
T—1232=240. =« ¢ » ¢ s + = s = « =P,

{24.) Had he not been idle he would have been entitled
- 1o ab cents. Buot he was idle > days at 2 Joss of (b4-¢)

cents, Hence, ab—{b-4cjx=d.
ab—d

o
e

]
(25.) Put Sz= less pari
Then g—bz== the greater part.

3
Per guestion, ﬂ-—?m=20.1:—7|:ﬂ—5::}

Ta—Afr=140r—80-} 18x
or, Z2Mr=10a=10-204
o, a=I14Q

Therefore, Sr==80=— the less park.

{28.) Lat 8x==the price of the horse,
Then a—8r= chaise. a=34l.

L]
Par question, 2&—15@—31!::241:—%{;'1—31}

]
or, ﬂnﬂiﬂw—a[u—ﬂmj

14a=301 x—ba-} 40z
18g=341x or, x=I18
Ar=162 Ans.
(28.) Let f2= his money.
After he first lost 2nd won 4 »., he had 4244,
He agrin lost and won, and then had 8z-4-8+4-3.
§ of this must equal 20, or, 8Sx--6=24.
=0
Bxr==30 Jins,



